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Zanzig:— Professor, do vou
want us to study our power

plants by the common sense
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method, or by cramming.
. .
Prof. Radtke:— 'I certainly

approve of the common sense
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method, provided vou can use
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BEATY'S FORMULA

By which any two numbers may be proved equal.
Can you discover the mistake ?

LLet @ and 4 be the two numbers.

Now, a*—a*—a b=b’—b*—ab, for all values of a and &
—That is, a*—a(a+b)*=b*—b(a+b)

Adding (a“;b) a>—a(atb)+(ATR)=p2 1 (atb) (& = i

-

That is, [a—(ajb) ]2:(b__(a-£b) )2
Extracting the square root,

a__(a —12— b): __( aj— b)
Whence, a=b
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